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C. Port Translation mode
D. GoGo mode

Answer: Pending. Please Send your suggestions to support@
QUESTION: 143

The OSPF LSA Link State type that all OSPF routers generate is the LSA LS type 1 Router
LS A. This LSA is flooded throughout every area in an autonomous system.

A. TRUE
B. FALSE

Answer: B

QUESTION: 144
What mechanism is used by IGMP to manage host groups?

A. IGMP uses a normal ARP and ARP Response mechanism.
B. IGMP uses the query-response mechanism.

C. IGMP uses manually configured Access Control Lists.

D. IGMP uses none of the above.

Answer: B

QUESTION: 145
Re-establishment of a previously pruned network branch is not supported by DVMRP.

A. True
B. False

Answer: B

QUESTION: 146
The Address Resolution Protocol enables a device to learn a destinations MAC address by
using the destinations known IP addresses in the ARP request.
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A. TRUE
B. FALSE

Answer: A

QUESTION: 147
The pre-empt option in VRRP is enabled by default on Extreme Networks switches. Pre-empt
ensures that:

A. The number of ports on the VLAN does not count in the election process

B. A message is sent to all hosts requiring them to flush their ARP table.

C. No back-to-back link is required between master and backup.

D. There is an immediate fallback to the original master when the problem is resolved.

Answer: D

QUESTION: 148
There is one ACL type supported by Extreme Networks switches that can only be dealt by the
CPU. Which type is it?

A. IP based

B. TCP based
C. UDP based
D. ICMP based

Answer: D

QUESTION: 149
What is the Area ID of the only pre-configured OSPF area in all Extreme Switches?

Answer: a

QUESTION: 150
In SLB a virtual server cannot belong to the same VLAN as the nodes in the referenced pool.
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A. True
B. False

Answer: A

QUESTION: 151

SSH2 on Extreme Networks ? chipset switches enables encrypted telnet sessions towards the
witch. SSH2 Client and Server both have a private key and exchange a public key before the
connection is set-up.

A. TRUE
B. FALSE

Answer: A

QUESTION: 152
What are the steps for DVRMP to begin routing multicast packets?

A. Discover neighbor routers => Elect designated browser => exchange route reports
B. Elect designated router => Discover neighbor routers => Exchange route reports
C. Discover neighbor routers => Exchange route report => Elect designated forwarder
D. None of the above

Answer: C

QUESTION: 153
IP Version 6 has amongst other differences with IP Version 4 also different address length.
What is the size of an IPv6 address?

A. 16 bits
B. 32 bits
C. 64 bits
D. 128 bits

Answer: D
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QUESTION: 154
Which statement is true about integrated 1S-IS.

A. It is a dynamic routing protocol

B. Used to route both IP and OSI packets

C. Supports Pure-IP environments, Pure-OSI and dual environments
D. All of the above

Answer: D

QUESTION: 155
By default OSPF hello packets are sent out every:

A. 2 seconds

B. 10 seconds
C. 30 seconds
D. 40 seconds

Answer: B

QUESTION: 156
Which of the following CLI commands could you use to determine which ports are enabled
for ESRP host attach?

A. show ports info detail
B. show esrp detail

C. show esrp

D. show ports config

Answer: B

QUESTION: 157
Dealing with an Access Control List on Extreme switches it's required to include a precedence
number when configuring the default rule.
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A. TRUE
B. FALSE

Answer: B

QUESTION: 158
What is an IGP protocol other than OSPF that uses the Dijkstrat's SPF routing algorithm?

A. RIP

B. IS-IS

C. EIGRP

D. All of the above

Answer: B
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